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2.99
3/ - b 2SR (BN a7 =) ) vy ]
[ 2 AR ) Be K2 FLAR ¢ 25cem
1.53
EOFREIFEEM OV VY R E)
TERS AR B 3kVA
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SHICEE —IRELE1855 ¢ 150MEC/KEMNE L= —/mm e urar

LERKELEESEXA=ZIREHBHN




DIP-GX ¢ 150mmiig’KEH

BT HEHES

- 1% DIP-GX ¢ 150mm: L=151.036m(149.950m)+126.805m(125.631m)+1.460m(1.460m)=279.301m(277.041m)

FUIHE: @ 150mm 25 ZERF: 0 25mm 5E

4. +451):0.60m~2.00m NO, 1
& 4 R
I/ g _# BRTZE H % &7 BHR B _Z
SEE-NER & BER() EERQ 2 BERQSE
HH GXHZ FHhaMNEEekE ¢ 150 X 5,000 X 43 5.000 5000 x( 24 + 19 + ) = 215.000
STEE - NE A
GXFZ 399Nk E ¢ 150 x 5,000 Z: 11 YERELY = 49366 tIEH
(1) 0.150 0.150 x( + + 1 ) = 0.150
GXF —Z2TFE ¢ 150 x ¢ 150 LE] 1, 0.560 0560 x( + 1 + ) = 0560
GXFz HiE ¢ 150 x 90° & 1 0.630 0.630 x( + + 1 ) = 0.630
GXFz HiE ¢ 150 x 45° & 4| 0470 0470 x( 1 + 3  + ) = 1.880
mZ
GXFz HiE ¢ 150 x 45° & 6 0.200 0200 x( 3 + 3 + ) = 1.200
GXFz HiE $150%x22° 1/2 | {& 5 0.410 0410 x( 2 + 3 + ) = 2050
mZ
GXFz HiE $150%x22° 1/2 | {& 3| 0.140 0140 x( 2 + 1 + ) = 0420
GXFz HiE ¢150x11° 1/4 | & 2| 0.370 0.370  x( + 2 + ) = 0740
GXFz HiE ¢ 150%x5° 5/8 LE] 4/ 0.370 0370 x( 4 + + ) = 1480
GXf; RiELAZRE ¢ 200 % ¢ 150 & 2| 0420 0420 x( 1 + 1 + ) = 0.840
GXHiz 7.5K-fz =2
ERBERR I HTEE $150%x ¢ 75 LE] 5 0530 0530 x( 3 + 2 + ) = 2650 ZTEH
GXf; #Ed ¢ 150 & 1] 0.240 0.240  x( + 1 + ) = 0.240
GXf; MREE ¢ 150 & 4| 0.020 0020 x( 3 + 1 + ) = 0.080
GXfz MZYIN-ME T F ¢ 150 ® 1] 0.220 0.220  x( + 1 + ) = 0220
7.5K-fz =2
GXf; EE25 ¢ 150 & 1] 0.400 0400 x( + + 1 ) = 0.400
GX#tz 74t ¢ 150 @ 15/ 0.039 0039 x( 8 + 7 + ) = 0585
GXF4 744V FAYIE 1=yh SUS304BN- T AR E L BER()  EBEERQ 2 EREER@ME EAE
G—Link ¢ 150 o | 30 15 + 15 4+ - = 30
SUS304BN - 1" Al - 1Rk 2pEs0 G-Link
GXT; EREREEIM $ 150 #H 25 55 — 30 = 25
EBERMITY ATEE BER() EBERQ BERQSE M
CHXIEERE) @150 % ¢ 75 (&7 (1) 0530 0530 x( 1 + + ) = 0.530 ;4kieTitL
$25- 2% BER() EBERQ BERQSE
EEERNSEESS  WA@EMA-15K | H 5 3+ 2 o+ = 5
¢ 75-H150- 75Kz = 2
F-LEGEES FCD | RS EHE-L-K | & 5 3+ 2 o+ = 5
¢ 75-H100-7.5K- iz = 2
F-LEGEES FCD | RS EHRE- LN -K | + + =
7.5K-fz =2
IV EE ¢ 75 %100 & 2 + 2 + = 2
BRER(Q2)5 K
MN-MEYI R ¢ 150 7.5K H 1 0.280 0280 X 1 = 0.280
7.5K BRERQ2)5 K
FCDA 77V ¢ 150 % ¢ 75 " 1 1 = 1
BRERQ2)5 K
BB EITIIY 75 & 1 1 = 1
BEEER = 279.301




DIP-GX & 150mmBikKEfRRT HEBFtHEE

&8 0% DIP-GX ¢ 150mm:L=151.036m(149.950m)+126.805m(125.631m)+1.460m(1.460m)=279.301m(277.041m)

U5 0 150mm 25 ZE5 5 ¢ 25mm 5&k

fEk &M £4Y:0.60m~2.00m NO. 1
& 4 R
I/ g _# BRTZE g % & B _Z
@ 150-F RN ATyk BERE() EERQ EBEERQSE
770V BF SUS304BN-7.5K | #H 1 + + 1 1
RFFZU7 EED Aryb
770V BF ¢ 150 SUS304BN-7.5K #f 1 + + 1 1
o 75-FRAMH Avb
770V BF SUS304BN-7.5K | #H 5 3 + 2 + 5 ERFHF
GFsH Afryb
50V FH ¢ 75 SUS304BN-75K  #A 7 3 + 4 + 7 TEH
AT R FIE R BEER
FYIFLVAY-7 ¢ 150 m 368.7 279.301 x {60 x (1 + o01) + 50} 368.677
100mZ Y
#ET-7 m | 2335 279301 x 836 -+ 100 233.496
ERER WRt  4YFE  mEH  EAR
ERRT-7 W=50 m 275.6 279.301 — 0.220 — 0.280 — 2.650— 0.530 275.621
TEER @Rt 4YF  mEH  EAR
HERAZS b W=150 24& m 273.4 277041 — 0220 — 0.280 — 2.650— 0.530 273.361
¢ 250 H=0.70
tOFRE%E CR1ErY 'R " 2 2 2
Tt ¢ 250
LY UiR'y9R SAEEH: H=50 & 2 2 2
Tt ¢ 250
LY Uiy gA L& H=150 & 2 2 2
Tt ¢ 250
LY UiR'y9R &0 () H=40 {& 2 2 2
¢ 500 H=0.60 H=0.70 H=0.75
ERARANBE M35 " 5 1 + 2 + 2 5
ERFH ¢ 500
LY UiR'y9R L& H=200 & 5 1 + 2 + 2 5
ERFH ¢ 500
LY UiR'y9R TE& H=200 & 1 1 + + 1
ERFH ¢ 500
LY UiR'y9R TE& H=300 & 4 + 2 + 2 4
ERFH ¢ 500
LY UiR'y9R EEB (M) H=40 | {& 5 1 + 2 + 2 5
[HEKE]
H#

BEIEIEE VIV e P75 m 3.3 3.250 3.250
B EITILG 75 4 4 4
EimbARITI Y 75 & 1 1 1

ERER

BEHRT-T W=50 m 25 3250 — 0.750 2.500
TEHER

HERAZ S W=150 2% m 2.1 2800 — 0.750 2.050




DIP-GX & 150mmBikKEfRRT HEBFtHEE

EfE- 0% DIP-GX ¢ 150mm:L=151.036m(149.950m)+126.805m(125.631m)+1.460m(1.460m)=279.301m(277.041m)

E£U1F: ¢ 150mm 2%

I 0 25mm 55

HERE M £ 4Y:0.60m~2.00m NO, 71
& 4 R
I/ g _# BRTZE g % & B _Z
FE ERT)
W2 Tt
SBHERIAREMAT W @150 m 278.8 279.301 — 0220 — 0.280 278.801
BEEES BE ByE
GXfts #F T ¢ 150 BT 54 43  + 11 54
EnREES EREESHM
GXfs ##F T ¢ 150 (&7 25| 25 25
BENREG-LinkiES G-Link
GXfs ##F T ¢ 150 (&7 30| 30 30
DERE
HSEUT ¢ 150 [m] 25 25 25
IV HET $150 7.5K [m] 20 1 + 1 2
W2 Tt
HOHEET ¢ 150 = 2 1 + 1 2
ERARET ¢ 25 -3 5 5 BRSF - WER °
WweER - FEE - FHTE
I3V MFT ®75 15K [m] 7 3 wWER - FHTE 4 7
HET-7
FYIFLVAY-THEL ¢ 150 m 279.3| 279.301 279.301
EHRRT-7T W=50 m 275.6| 275.621 275.621
A - T W=150 2% m 273.4| 273.361 273.361
BKEHEBRT B B m | 279.3| 279.301 279.301
¢ 250 H=0.70
EUHFABKEREAT CR1ErY R (&7 20 2 2
Tt ¢ 250
LY Uiy IR BT T =M H=50 2 2 2
Tt ¢ 250
LY Uiy IR BT T L& H=150 20 2 2
Tt ¢ 250
LY Uiy IR BT T [EEB(MAZ) H=40 20 2 2
¢ 500 H=0.60 H=0.70 H=0.75
ERARABKEREMGT M35 AT 5 1 + 2 + 2 5
ERFH ¢ 500
LY Uiy IR BT T L& H=200 & 5 1 + 2 + 2 5
ERFH ¢ 500
LY Uiy IR BT T TE& H=200 & 1 1 + + 1
ERFH ¢ 500
LY Uiy IR BT T TE& H=300 & 4 + 2 + 2 4
ERFH ¢ 500
LY Uiy IR BT T EEB (M) H=40 | {& 5 1 + 2 + 2 5
NOFMERSGT ¢ 75 m 3.3 0500 + 1550 + 0450 + 0.750 3.250
EXRY
NOREE DI T 75 a 4 4 4
Rty YIE AR
NORMERFT b75 [m] 8 4 x 2 8
RLAHEE I
NORMERFT 75 A 4 4 4
BEHRT-7 L W=50 m 25 2500 2.500
WS- T W=150 2% m 21 2.050 2.050
¢ 150
BRAYREHE BRET H=0.75F & 1 1 (1L x 1+)Y5'H50 x 1+.E FH150 X 1+EH40 X 1) 1 ERERMEEA




DIP-GX & 150mmBikKEfRRT HEBFtHEE

HHF: @ 150mm 2% L ¢ 25mm 5E

ek &M £#8Y:0.60m~2.00m NO. 7
& 4 R
I/ g _# BRTZE g % & B _Z
(1]
¢ 150
BRI L TD-1 EE$5E(B-10-10) | m | 2358 0.6 59.5 85.6 770 + 116 + 15 235.8
75
EHILTD-2 EE 4B (5-10-10) | m 2.3 23 23
¢ 150
EHLTO E &4 B (5-15-15) | m
¢ 150
EHILIO EEE#E(5-5-10-25) m 323 283 40 32.3
¢ 150
EHILT@ EE 48 (5-10-10) | m 48 48 48
¢ 150
EHILIO® EEE#E(5-5-10-25) m 47 4.7 4.7
[tET]
LSP-2% W=250 | w8 +1® +I6
ZEWERLTAAT KIRFE2.5m m 9.5 48 4.7 9.5
LSP-2% W=250 | &
Z2MER5IRT EHrFE2.5m m 95 95 9.5
BELE 2%
XEMEE-BE HEHIE<3.5m m 9.5 95 9.5




T I ¥ R & i %
No. 1 NO. 1 TID-1 NO. 2 TI®D-2 NO. 3 TI®Q NO. 4 TI® NO. 5 TI@ 0. 6 TIG NO. 7 NO. 8
150mm DIP-GX BO K& 235.8 “EE L 2.3 “EE L “EE L 32.3 “EE L 4.8 “EE L 4.7 “EE L “EE L “EE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 471. 60 2.00 4.60 2.00 64. 60 2.00 9.60 2.00 9.40 559.80 )| ( 560 )
SEUIMT t=15cmA T m
AsEiZEhR 0. 60 141.48 0.60 1.38 0. 60 19. 38 0.90 4.32 0.90 4.23 170.79 ) ( 171)
SRR T [t=10cmA T m2
BHO. 28m3 0.50 117.90 0.38 0.87 0.49 15. 83 1.91 9.17 1.86 8.74 152.51 ) ( 150 )
AR R T MEL m3
BHO. 28m3 0.20 47.16 0.17 0.39 0.20 6. 46 0. 31 1.49 0. 31 1. 46 56.96 )|l ( 60 )
HERT BER m3
BHO. 28m3 0.16 37.73 0.09 0.21 0.06 1.94 1.40 6.72 1.22 5.73 52.33 )] ( 50 )
HHIERT HESL m3
(RC-30) 0.60 141. 48 0. 60 1.38 0.90 4.32 147.18 )| ( 147 )
TRERET t=10cm m2
(RC-40) 0. 60 19. 38 0.90 4.23 23.61 ) ( 24 )
TREERET t=25cm m2
(RC-40) )¢ )
TREERET t=15cm m2
(RM-30) 0.60 141. 48 0.60 1.38 0.90 4.32 147.18 )| ( 147 )
LRERET t=12cm m2
(RM-30) 0. 60 19. 38 0.90 4.23 23.61 ) ( 24)
LRERET t=17cm m2
(RM-40) )¢ )
LRERET t=17cm m2
BAZTHLAs13mm 0. 60 141. 48 0. 60 1.38 0. 60 19. 38 0.90 4.32 0.90 4.23 170.79 ) ( 171)
B R 18 16 t=3cm m2
BitunT 0.32 75. 46 0.28 0.64 0.42 13.57 0.35 1.68 0.50 2.35 93.70 ) ( 90 )
(£8) 41DT m3
BitunT 0.03 7.07 0.03 0.07 0. 06 1.94 0.05 0.24 0.09 0.42 9.74 )| ( 10)
(AS) 4tDT m3,
2ZAE 0.07 16. 51 0.07 0.16 0.14 4.52 0.1 0.53 0.21 0.99 22.71 )] ( 22.7)
ASH% t
EESE 0. 60 141. 48 0. 60 1.38 0.90 4.32 147.2
HREREIR (5-10-10) m2,
EEHE
HRE{REIR (5-15-15) m2,
EEEE 0. 60 19. 38 0.90 4.23 23.6
HREREIR (5-5-10-25) m2,

=R oK E #




%6

mELtT Y OB &
I N e e R | I LR o 2 e B
+T @O-1 +T O-1
sp — 0.75 — — IP.84+15.150 — 0.70 — —
IP.69 36.330 0.70 0.73 26.521 1P89+1.221 1.221 0.75 0.73 0.891
IP.70 1.015 0.60 0.65 0.660 IP.90 2.159 0.70 0.73 1.576
IP.71 4.820 0.60 0.60 2.892 IP.91 4.379 0.70 0.70 3.065
IP.72 1.015 0.70 0.65 0.660 IP.92 2.030 0.70 0.70 1.421
IP.73 9.470 0.70 0.70 6.629 IP.93 0.332 1.03 0.87 0.289
IP.74 0.410 0.70 0.70 0.287 EP 2.700 1.00 1.02 2.754
IP.75 1.280 0.70 0.70 0.896
IP.76 0.410 0.70 0.70 0.287
IP.77 4.770 0.70 0.70 3.339
IP.80 — 0.70 — —
IP.81 141.009 0.70 0.70 98.706
IP.82 2.030 0.70 0.70 1.421
IP.83 2.911 0.70 0.70 2.038
IP.84 1.530 0.70 0.70 1.071
IP.84+15.150 15.150 0.75 0.73 11.060
A E 12.82 10.00
A Bt 222.150 156.467 & i 234.971 166.463
LTTHER = m LTTHER = 234.971
P Y = m FH Y = 166.463 <+ 234.971 = 0.71




+ I # it B =
No, 1
WA =  (@D-1 DIP$150 L= 2358 m
Brigi B = [HEAE (5-10-10) H= 0.7] m
gEREE = 0170 X 0170 X =z / = 0.023
= R = X X T /
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X ( 0.88 0.05 )= m3 0.50
T BHO.28m3
K NFRED AR 1.00 X 0.60 X 0.37 0.023 = m3 0.20
T BHO.28m3
LG TN A 1.00 X 0.60 X 0.26 m3 0.16
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEA ST 4DT PEHE] 1 A+
FEAA 1+ 050 —( 0.16 =+ 0.90 )= m3 0.32
FELH T 4tDT
FEAZL TR 1.00 X 0.60 X 0.05 m3 0.03
TAE
TAT7 /iR 0.03 X 220 = t 0.07




T I #% E & & EBE
No,2
Mg Es = D-2 VLPg75 L= 23 m
Brigi B = [HEAE (5-10-10) H= 0.60 m
s = 0090 X 009 X x / 4 = 0.006
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
1 BHO.28m3
Wb A FEE £ 1.000 X 0.60 X( 0.69 — 0.05 )= m3 0.38
I T BHO.28m3
K NFRED AR 1.000 X 0.60 X 0.29 — 0.006 = m3 0.17
I T BHO.28m3
LG TN A 1.00 X 0.60 X 0.15 = m3 0.09
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEAHG T 4DT PEHE] 1 A+
FEAA 1+ 0.38 —( 0.09 = 0.90 )= m3 0.28
FELH T 4tDT
FEAB TAT7 MR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TAT7 b 0.03 X 220 = ¢ 0.07







I & E ft B E
No,4
a5 = @ DIPp150 L= 32.3 m
Brias B = [ FE (5-5-10-25) H= 0.75
B = 0170 X 0170 X ~ J/ 4 0.023
EHE = X X /4
Im2%47
% = = H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X ( 0.92 0.10 )= m3 0.49
HHEE T BHO.28m3
LN AR 1.00 X 0.60 X 0.37 — 0.023 = m3 0.20
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.10 m3 0.06
TSI T (RC-40)
t=25cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=17cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEAHG T 4DT P+ A+
FBUAL | 0.49 —( 0.06 = 0.90 ) m3 0.42
FE T 4DT
FFAZ TAT 7 b 1.00 X 0.60 X 0.10 m3 0.06
TAE
TR77 /b 0.06 X 235 = ¢ 0.14
Z R W K E B




T I #% E & & EBE
No,5
a5 = @ DIPp150 L= 4.8 m
Brigi B = [HEAE (5-10-10) H= 2.00 m
sERE = 0170 X 0170 X x / 4 = 0.023
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.90 = m2 0.90
A T. BHO.28m3
BRI A BEE - 1.00 X 0.90 X( 2.17 — 0.05 )= m3 1.91
HHEE T BHO.28m3
LN AR 1.00 X 0.90 X 0.37 — 0.023 = m3 0.31
HHEE T BHO.28m3
BN FEAE A 1.00 X 090 X 155 = m3 1.40
TSI T (RC-30)
t=10cm 1.00 X 0.90 = m2 0.90
/BT (RM-30)
t=12cm 1.00 X 0.90 = m2 0.90
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.90 = m2 0.90
FEAHG T 4DT P+ A+
FBUAL | 1.91 —( 1.40 =+ 0.90 )= m3 0.35
FE T 4DT
TGS TR 1.00 X 0.90 X 0.05 = m3 0.05
TAE
TR 7/ 0.05 X 220 = ¢ 0.11

=R M K E &




T I #% E & & EBE
No, 6
a5 = B DIP$150 L= 4.7 m
Brias B = [ FE (5-5-10-25) H= 2.00 m
sERE = 0170 X 0170 X x / 4 = 0.023
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.90 = m2 0.90
1 BHO.28m3
Wb A FEE £ 1.00 X 0.90 X( 2.17 — 0.10 )= m3 1.86
I T BHO.28m3
K NFRED AR 1.000 X 0.90 X 0.37 — 0.023 = m3 0.31
I T BHO.28m3
LG TN A 1.00 X 0.90 X 1.35 = m3 1.22
TSI T (RC-40)
t=25cm 1.00 X 0.90 = m2 0.90
/BT (RM-30)
t=17cm 1.00 X 0.90 = m2 0.90
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.90 = m2 0.90
FEAHG T 4DT PEHE] 1 A+
FEAA 1+ 1.86 —( 1.22 =+ 0.90 )= m3 0.50
FELH T 4tDT
FEAB TAT7 MR 1.00 X 0.90 X 0.10 = m3 0.09
TAE
TAZ7 b 0.09 X 235 = ¢ 0.21

=R M K E &




Bl DIP-GX ¢ 150 BIEFRE BEWHA  RESTE RO = 0.68m 9% = 0.7

o) 4o ) )
& &t 53 LT
HE K E S|FEE BR OE &S ER | E SIBE BR OE I|1ES BR OE X
- = D  GX-G | 4.000 1 GX-G 0.920 4920 0.080| 2
4.00 5% 7% % 7% 0.92
o= @ GX-G | 3.591 2 GX-G| 0.920 4511 0489 2
3.59 7% 7% 7% 7% 0.92
= ® GCX-G 4.041 13 GX-G| 0.862 4903 | 0.007| 2
4.04 5% 7% % 7% 0.86
o= @ GX-G 25000 14 G-G  1.088] 3 | GX-G 1.140 4698 | 0302 3
2.50 7% 7% % .06  1.14
= ® GX-G 1.691| 12 G-G  1.394| 10 GX-G 1.568 4653 | 0347 3
1.69 5% 7% % 139 1.57
o= ® GX-G 2.462 5 GX-G| 1.638 4.100 | 0.900| 2
2.46 % 7% 53 7% 1.64
= @ GX-G 2.431 7 GX-G 1.890 4321 o679 2
2.43 5 7% 7% 7% 1.89
o= GX-G | 1.691| 6 G-G  1.638] 8 GX-G 1.390 4719 0281 3
1.69 7% 7% 7% 1.64  1.39
= © GCX-G 1.831 9 GX-G 1.568 3399 | 1.601| 2
1.83 5% 7% % 7% 1.57
o= GX-G 2.971 11 GX-G 1.300 4271 0729 2
2.97 % 7% 53 7% 1.30
= @ GX-G 3.870 4 GX-G 1.001 4871 o0.120| 2
3.87 5% 7% % 7% 1.00
B4 DIP-GX ¢ 200(STE%) L = 5,000 11 & 49.366| 5.634| 25




Bl EEAEIR T BEERIER  No.6-1

& Al L1l Bk CRE v BAfr| i At R
F AR B R EigiED (5-10-10)  554.9
[EEHE (5-5-10-25)  69.3 AsBral  624.2 m2
iliCo 11.8 Cotrit 11.8 m2
(S EN EhLERRE AsEHHERR - t=15emPA T #4558 D (5-10-10) 6.7
[FEE I (5-5-10-25)  T4.6 Exi 81.3 m m 81.3 81
EhLERRE Cobl%EhR « t=15embh T i Co 14.5
Exi 14.5 m m 14.5 15
AsERESRRE (D04 - D) |BOKAE (K EldE T AERF R (REHE T £BXY 147.2 nf
(5-10-10) FakAE (R P TAERHR (T kv 3L0 of
TGS ES A TARFE (ST #E XY 139.3 of #3t 317.5 m3
ASHREHIERE (s - @) LA (ReH%E fiH# TAERHR (2E L RELY
(5-15-15) FaRE AR A TARFER (AT KB LY
IS Rk fr TAERNR (AL RELY &t
AsBISE R (Db - [ERE ) (B (A% FHEFTHERER (REET KB L0 23.6 nf
(5-5-10-25) FaAKAE (R TG R ET #ELY 2.0 of
WERRE L gt R TARFH R (ST KB LY 22.2 of A3 47.8 m3
AsHIAERRRRE (RS - Hico)  |RE/KAE (AL R TARRHR AT RE XY 7.5 nf
(RAEIR As t=3cm) GFF 7.5 m2
AsEEERRAE: (R  |EEAED (5-10-10) EEAE IREAE  554.9 - {REEEmEAY 317.5 = 237.4 nof
[E1E 478 @ (5-15-15) kN Rl - RAHE AR = ot
=38 #3# (5-5-10-25) WA IHmA  69.3 - (EEEmAT 47.8 = 2L.5 nof
Coflikehiiletle GRE8i)  [iiECo WESAEIRmR 1.8 - (AR 7.5 = 4.3 nf
IR ASHESENT - -10emBA T | (RBRRERE g n o R mRGes e | s72s 373
RO AR %f;f@ " RS " %?fﬁ 9589 m2 258.9 259
B AR CoEMT - =10enBA T | WBMEH e s w | 4 1




. . Sl g =
FoKE  SEAEIR T BEEHE  No. 6-2
| G O 1 = HAL| g it R E
. - [ ES A
Atz 2 4 ~10-
S Cou OEMALEE (A7) [EEAED (5-10-10) 317.5 X 0.03 9374 X 0.05 — 2.4 m
SO (515 e B
[EE A1 (5-15-15) % 0.03 % 0.05 — "
o e (A A
(38 HE (5-5-10-25) 47.8 % 0.03 215 % 0.10 = 3.6 m3
RS
itiCo 7.5 % 0.03 = 0.2 m
A% 25.2m3 | m3 25.2 25
. T
AsTSE NS ( 21.4 ) X 2.20 t/m3 = 47.1
HEE &3 56.0 t 56.0 56. 0
( 3.6 + 0.2 ) X 2.35t/m3 = 8.9 HE : : :
- R
FRIERALER (CoR) HiiECo s % 0.07 030 m
A% 0.3 m3 m3 0.3 0.3
Cop st N3t 0.30 X 2.35 t/m3 = 0.7 t
aEt 07 t 0.7 0.7
kb B (= EEAEQ, EEANEQ (b [ E Al TiECo il
+T Bl FmEl (& &0) ( 317.5 4 ) % 0.02 4+ 7.8 X 0.07 + ' 0. 04 m3 10.0 10
A A S m3 10.0 10
AT AR m3 10.0 10
Al A7 ek e . . e
HEAREIAL  |REEEE R B L - A A ) S A | A 69.3 + 1.8 m2 81.1 81
o A
HRIE T “*ﬁfﬂ_ﬁ,m S AT I R 5549 4 m2 554.9 555
S () FPERIRIE CO) = vZ0em | e A 1 69.3 e | 6.3 69
I (i) PRI QO - t0em | e A 1 69.3 e | 6.3 69
2 Okit) e Il I R 54,9 w2 | 5509 555
ENT AR i 18N/mm2 * t=Tcm I8 Cofli%E A I ik 11.8 m2 11.8 12
X iR L AR X AR FEHR - B - W=15cemfft 28.0 m 28.0 28
AR X E AR AR - At - W=15emi R 23.0 m 23.0 23




FOKEMRL (XEH150mmDIP) #HEBFHES

&8 - 0% PEP ¢ 20mm X 17657 PEP ¢ 25mm X 4%&Ff_PEP ¢ 40mm X 1 &7t

ek EH Y :0.60m~0.65m NO. 4
& 4 R
IiE £ # BRTZE g % & B _Z
H#
HER A7’ 17
YL AT KEE ¢ 150 X ¢ 20 = 17 17 17
HHG%ER B#7 4
YL AT KEE @150 X ¢ 25 4 4 4
HHS%ER c447 1
YL AT KEE ¢ 150 X ¢ 40 = 1 1 1
¢ 20 @25
LEKAEFR YR FCD ZRHE & 210 17 + 4 21
¢ 250 ¢ 40
T A%E AR5 (FA%%) " 1 1 1
TR ¢ 250 40
LY Uik'ygR LETFE H=150 & 1 1 1
TR ¢ 250 ¢ 40
Ly uik'yhR JEER () H=40 @ {& 1 1 1
FE UERT)
HuRER
NKERETAAT ¢ 150 x ¢ 20 AT 17
HS%ER
NKERETAAT ¢ 150 x ¢ 25 Bl 4
HS%ER
DIKBRETAAT @ 150 X ¢ 40 (&7 1
I7HEAL ¢ 20 (&7 17
I7HEAL ¢ 25 (&7 4
I7HEAL ® 40 (&7 1
¢ 250
TOFRABEREMGT AM1E (FAE%) &R 11 1
to#HA ¢ 250
LY Uk IR BT LETFE H=150 1 1 1
to#HA ¢ 250
LY URyIAER T EE(MAR) H=40 @ 1@ 11 1
MIf A7 ARERTY
FRKEERT PEP ¢ 20 AT 17/ L=35m x 17&f L=3.5m
MIf B#7 ARERTY
HKEERT PEP ¢ 25 (&7 4/ L=35m x AEFT L=3.5m
MIH co17 HRERETY
HKEERT PEP ¢ 40 (&7 1/ L=35m x 1&fr L=3.5m
[£T]
$20-25
EEI L TD-1 EE 4B (5-10-10) | m 590 56.0 + 3.0 59.0
@40
EHILTD-2 EE 4B (5-10-10) | m 3.0 3.0 3.0
$20-25
EHILTO E#E 4B (5-15-15) | m
$20-25
LT EEE#E(5-5-10-25) m 4.0 4.0 40




T I ¥ R & i %
No. 4 NO. 1 TID-1 NO. 2 TI®D-2 NO. 3 TI®Q NO. 4 TI® NO. 5 NO. 6 NO. 7 NO. 8
HIKE (KE B 150mmDIP) 73R 50.0 =EE L 30 =EEL SEE L 4.0 SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 118.00 2.00 6.00 2.00 8.00 132.00 ) ( 130 )
SEUIMT t=15cmA T m
CofdEhR K )
SEUIMT t=15cmA T m
AsEiZEhR 0.50 29.50 0.50 1.50 0.50 2.00 33.00 ) ( 33)
SHERREFA T [t=10cmA T m2
CofdEhR K )
SRR T [t=15cmA T m2
BHO. 13m3 0.29 17. 11 0.30 0.90 0.34 1.36 19.37 )| ( 19)
AR ERHE T ME L m3
BHO. 13m3 0.1 6.49 0.12 0.36 0.1 0.44 7.29)|( 1)
HIERT BER m3
BHO. 13m3 0.08 4.72 0.08 0.24 0.05 0.20 5.16 )| ( 5)
HIERT HESL m3
(RC-30) 0.50 29.50 0.50 1.50 31.00 ) ( 31)
TREERET t=10cm m2
(RC-30) )¢ )
TRERET t=14cm m2
(RC-40) )¢ )
TRERET t=15cm m2
(RC-40) 0.50 2.00 2.00)( 2)
TRERET t=25cm m2
(RM-30) 0.50 29.50 0.50 1.50 31.00 ) ( 31)
LRERET t=12cm m2
(RM-30) 0.50 2.00 2.00)( 2)
LRERET t=17cm m2
(RM-40) )¢ )
LRERET t=17cm m2
BAZTHLAs13mm 0.50 29.50 0.50 1.50 0.50 2.00 33.00 ) ( 33)
B R 18 16 t=3cm m2
BitunT 0.20 11.80 0.21 0.63 0.28 1.12 13.55 )| ( 10)
(£8) 2tDT m3
EER Y 0.03 1.71 0.03 0.09 0.05 0.20 2.06 ) ( 2)
(AS) 2tDT m3,
BimsT ) ¢ )
(C0) 2tDT m3,
2AE 0.07 4.13 0.07 0.21 0.12 0.48 4.82)|( 4.8)
ASH% t
ZAE K )
CO%% t
EESE 0.50 29.50 0.50 1.50 31.0
HRE{REIR (5-10-10) m2,
EEHE
HREREIR (5-15-15) m2,
EEEE 0.50 2.00 2.0
HRE{REIR (5-5-10-25) m2,
8 Co
HRE{REIR (7-10) m2,




+ I # it B =
No, 1
Wrigids = (-1 PEP$20-25 L= 59.0 m
Brigi B = [HEAE (5-10-10) H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
1 BHO.13m3
Wb A FEE £ 1.00 X 0.50 X( 0.63 — 0.05 )= m3 0.29
i T BHO. 13m3
K NFRED AR 1.000 X 0.50 X 0.23 — 0.001 = m3 0.11
i T BHO. 13m3
LG TN A 1.00 X 050 X 0.15 = m3 0.08
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
FEALHG T 20DT PEHE] 1 A+
FEAA 1+ 0.29 —( 0.08 = 0.90 )= m3 0.20
FELH T 2tDT
FEAB TAT7 MR 1.00 X 050 X 0.05 = m3 0.03
TAE
TAZ7 b 0.03 X 220 = ¢ 0.07




T I #% E & & EBE
No,2
W5 = (D-2 PEPg40 L= 30 m
Brigi B = [HEAE (5-10-10) H= 0.60 m
B = 0050 X 0050 X x / 4 = 0.002
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
1 BHO.13m3
Wb A FEE £ 1.000 X 050 X( 0.65 — 0.05 )= m3 0.30
i T BHO. 13m3
L NFIED AL 1.000 X 050 X 0.25 — 0.002 = m3 0.12
i T BHO. 13m3
K NFRED AR 1.00 X 050 X 0.15 = m3 0.08
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
FEALHG T 20DT PEHE] 1 A+
FEAA 1+ 0.30 —( 0.08 = 0.90 )= m3 0.21
FELH T 2tDT
FEAB TAT7 MR 1.00 X 050 X 0.05 = m3 0.03
TAE
TAZ7 b 0.03 X 220 = ¢ 0.07







+ I # it B =
No,4
a5 = B  PEP$20:25 L= 4.0 m
Brias B = [ FE (5-5-10-25) H= 0.75 m
EREE = 0030 X 0030 X x / 4 = 0.001
EHE = X X /S 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
1 BHO.13m3
Wb A FEE £ 1.00 X 050 X( 0.78 — 0.10 )= m3 0.34
i T BHO. 13m3
K NFRED AR 1.000 X 0.50 X 0.23 — 0.001 = m3 0.11
i T BHO. 13m3
LG TN A 1.00 X 050 X 0.10 = m3 0.05
TSI T (RC-40)
t=25cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=17cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
FEALHG T 20DT PEHE] 1 A+
FEAA 1+ 0.3 —( 0.06 + 0.90 )= m3 0.28
FELH T 2tDT
FEAB TAT7 MR 1.00 X 050 X 0.10 = m3 0.05
TAE
TAZ7 b 0.05 X 235 = ¢ 0.12




fOKEMRL (XEH100mmDIP) HEHES

R EH WY 060m(ETIE) NO. 5
& 4 R
IiE £ # BRTZE g % & B _Z
H#
HHS%ER A347 6
YL AT KEE @ 100 % ¢ 20 p- 6, 6 = 6
¢ 20
LEK#EF YR FCD ZRHE & 6, 6 = 6
FE (EHT)
HS%ER
DIKRETAAT $100% ¢ 20 AT 6
7EATL ¢ 20 &1 6
MIf A7 HRERTY
FRKEERT PEP ¢ 20 AT 6| L=3.0m x 6HEFT L=3.0m
(1]
$20-25
EEHLT@ AT Co(7-10) m 150 150 = 150

>4
HMIRRERE 22X 914%1,829 m2 10| 0914 x 1829 X 6 = 10.03




T I ¥ R & i %
No.5 NO. 1 TI@ NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HIKE (KE B 100mmDIP) 73R 5.0 =EE L SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsFHZERR )¢ )
SEUIMT t=15cmA T m
Cog%Ehi 2.00 30.00 30. 00 ) ( 30)
SEUIMT t=15cmA T m
AsEH%E IR K )
SHERREFA T [t=10cmA T m2
CofdEhR 0.50 7.50 7.50)][( 8)
SRR T [t=15cmA T m2
BHO. 08m3 0.28 4.20 4.20)( 4)
AR R T ME L m3
BHO. 08m3 0.1 1.65 1.65 ) ( 2)
HHERT BER m3
BHO. 08m3 0.12 1.80 1.80 ) ( 2)
HERT HESL m3
(RC-30) )¢ )
TREERET t=10cm m2
(RC-30) 0.50 7.50 7.50 ) ( 8)
TRERET t=14cm m2
(RC-40) )¢ )
TRERET t=15cm m2
(RC-40) )¢ )
TRERET t=25cm m2
(RM-30) )¢ )
LRERET t=12cm m2
(RM-30) )¢ )
LRERET t=17cm m2
(RM-40) )¢ )
LRERET t=17cm m2
BERH As13mm 0.50 7.50 7.50 ) ( 8)
B R 18 16 t=3cm m2
BitunT 0.15 2.25 2.25)|( 2)
(£8) 2tDT m3
BimsT MK )
(AS) 2tDT m3,
BitunT 0.04 0.60 0.60 )| ( 1)
(C0) 2tDT m3,
ZAE )¢ )
ASH% t
ZAE 0.09 1.35 1.35)( 1.4)
CO%% t
EEHE
HRE{REIR (5-10-10) m2,
EEHE
HREREIR (5-15-15) m2,
EEHEE
HRE{REIR (5-5-10-25) m2,
& Co 0.50 7.50 7.50
HRE{REIR (7-10) m2,




+ I # it B =
No, 1
a5 = @ PEP$20:25 L= 150 m
Brigi& B = ifiBCo(7-10) H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
CodHElk t=15cmEL 1.00 X 2 = m 2.00
LN T
CollEie t=15embl 1.00 X 050 = m2 0.50
1 BHO.08m3
BRI A BEE - 1.000 X 050 X( 0.63 — 0.07 )= m3 0.28
i - BHO.08m3
LN AR 1.00 X 050 X 0.23 — 0.001 = m3 0.11
i - BHO.08m3
BN FEAE A 1.00 X 050 X 0.23 = m3 0.12
TSI T (RC-30)
t=14cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 050 = m2 0.50
FEALHG T 20DT P+ A+
FBUAL | 028 —( 0.12 +~ 0.90 )= m3 0.15
FE T 4DT
FFiAZL 0P 1.00 X 050 X 0.07 = m3 0.04
TAE
3 0.04 X 235 = ¢ 0.09




BNERETL HES5HES
RO HREES IN=1)
k& T Y:0.70m NO,
& 4 R
I £ _# BRTE Bl y & sHE B _F
GXT 7.5K-fiz 2 [EE0)
HH | EBESRNIS HTEE $150% ¢ 75 1 1] 0530 0530 x 1 0.530| e
SUS304BN- 1" L - 1R 8k BRpE20
GXT; EREREEIM $ 150 # 1 1 1
o 75- WL EIHE ERHE(1)
REIEERRE AR BO-75K ® 1 1 1
¢ 75-H150-7.5K-Fz =2
F-VEEES FCD | RS EE LV - & 1 1 1
¢ 75-FAMH R rvb
750V B F SUS304BN-7.5K | #f 1 1 1
¢ 75-GFRH Ryt
750V B F SUS304BN-7.5K 1 1 1
¢ 500 H=0.70
HARERSE M35 % 1 1 1
HAERA ¢ 500
LY UiR'y9R LE# H=200 & 1 1 1
AR ¢ 500
LY UiR'y9R TE& H=300 & 1 1 1
HAERA ¢ 500
LY UiR'y9R EEB (M) H=40 | {& 1 1 1




BNERETL HES5HES
ERE-OF ARG IN=1)
k& T Y:0.70m NO, 3
& 4 R
IiE g _# BRTZE g % & B _Z
FE (EHT)
EnREES EREESHM
GXfs ##F T ¢ 150 (&7 1 1
BpO
HARERET 75 = 1 1 HAKRR - iR
ISUCHET ®75 75K [m] 11 WER - FETE
¢ 500 H=0.70
HXERASEREMT M35 (&7 11
HXkIEHA ¢ 500
LY Uk IR BT L& H=200 1 1
HXkIEHA ¢ 500
LY Uk yIAB T T& H=300 11
HXkIEHA ¢ 500
LY Uk IR BT EEB(AR) H=40 | & 1 1
X E#R #H/E 1815cm BT 1 1 SHAREEY




NO, 7
B 4 R
IiE £ # FBHTZE Hl % & E %
FE [B&fET)
SEEERIOVY MIf

BEEIRT —REER m 740 BREEIARK 740 = 74.0 XM ERR




BRERSEL HSHESE
EfE- O :DIP ¢ 200mm:L=275.6m
ER T #81):0.95m~1.20m NO. 8
g 4 R
TiE £ K TZE S % & B %
B
FE ¢ E |
BEERET % E ¢ 200 m 263.1 33600 + 229.500 = 263.100
g
BHEREMRT ¢ 200 a 89 263.100 ~ 30 m/0 + 2 = 89
%
MZhIVEF T ¢ 200 a 2
B ESAEREL G331 2 2 = 2
BEERE N ERET G331 1 1 = 1
EEYMRIELT m® 1] 110 x 055 x 145 = 088
HEEERuE *EE B} 3
FROE iR A0 IR Co £ m® 1] 110 x 055 Xx 145 = 088
nnE Co & t 21| 088 x 235 = 207
A9797° t | -11.532] 11.532 = 11.532
(FAteT]
IVINFEET % E ¢ 200 m 12.5 12.500 = 12.500
(£T]
¢ 200
BELITD (FTER BB RN m 226.1 336 + 1810 + 115 = 226.1
¢ 150
BELTID-2 (FER B 1B ED) m =
¢ 250+ ¢ 150(3H: %)
BELTID-2 (FER B 1B ERED) m =
¢ 250+ ¢ 150(3H: %)
BELTD-3 (B R E 1R ED) m =
¢ 200
BELTQ EEEEG-5-10-25)| m 370, 370 = 370
Bt R 4+
#H# HSERER ¢ 200 & 2




T I ¥R &% M =

No. 8 NO. 1 BEQD NO. 2 BEQ NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HREMET 2261  =EE L 37.0 =EEL 0.4 =EEL SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 74.00 ( 74.00)( 74)
SEUIMT t=15cmA T m
AsEiZEhR 0. 60 22.20 (9 22.20)|( 22)
SRR T [t=10cmA T m2
BHO. 28m3 0.29 65.57 0.75 27.75 (93.32)( 90 )
AR R T MEL m3
BHO. 28m3 ( ) ¢ )
HERT BER m3
BHO. 28m3 0.33 74. 61 0.58 21.46 (96.07)|( 100 )
HHIERT HESL m3
(RC-40) 0.60 22.20 (22.20)|( 22)
TRERET t=25cm m2
(RM-30) 0. 60 22.20 (22.20)|( 22)
LRERET t=17cm m2
BAZTHLAs13mm 0.60 22.20 (22.20)|( 22)
B R 18 16 t=3cm m2
RitunT -0.08 -18.09 0.1 4.07 ( -14.02 )| ( -14)
(£8) 41DT m3 KAEZEEINSRA
RitunT 0.06 2.22 ( 2.22)]( 2)
(AS) 4tDT m3,
ZAE 0.14 5.18 ( 5.18 ) ( 5.2)
ASH% t
EEEE 0.60 22.20 22.2
HREREIR (5-5-10-25) m2,

=R oK E #




T I #% E & & EBE
fé?i\b NO,]
Wrigd s = @D  DIP$200 L= 226.1 m
gt B = (Bl & )
s = 0220 X 0220 X x / 4 = 0.038
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsEHEEIK t=15cmIL T m
BHEERR A T
AsBHEEK t=10cmLl T m2
et 1. BHO.28m3
- A - FEE A 1.00 X 0.60 X 0.55 — 0.038 =| m3 0.29
HEEZ 1. BHO.28m3
S NFEIED PR m3
HEEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.55 = m3 0.33
AT (RC-30)
t=10cm mZ2
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm mZ2
LT 4DT mElt+ dAt
FEAS 177 0.29 —( 0.33 = 0.90 )= m3 -0.08
FELH T 4tDT
FFAS TAT7/A b m3

AR
TRT 7Rk




H
H
32
il
o
o
i

fé?i\b NO,2
s = @  DIP$ 200 L= 37.0 m
Brias B = [ FE (5-5-10-25) H= 1.20 m
s = 0220 X 0220 X x / 4 = 0.038
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
1 BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 1.42 — 0.10 )— 0.038 =| m3 0.75
I T BHO.28m3
S NFEIED PR m3
I T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.97 = m3 0.58
TSI T (RC-40)
t=25cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=17cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEAHG T 4DT P+ A+
FBUAL | 0.75 —( 0.58 =+ 0.90 )= m3 0.11
FE T 4DT
FEAB TAT7 MR 1.00 X 0.60 X 0.10 = m3 0.06
TAE
TAZ7 b 0.06 X 235 = ¢ 0.14




SUS® 150" ¢80- ¢ 501k

=
RE

s’ (BE) . PEP ¢ 20~ ¢ 40(R#E5KEMR(BE) T HEFTES

SUS ¢ 50mm:0.486m X 2& F7=0.972m

NLYE SUS @ 80mm:L=1.581m(0.833m)

RAEIK . 20mm X 14E AT+ @ 25mm X 4F T+ @ 40mm X 2 FT

MRS URERE) £#Y:0.95m~050m~FZH . (RFMAKE) LY 050m~5E NO. 9
g 4 R A
IiZ £ BT E By % £ | B4R 1w _Z
H#H BE ke
&R SUSE 4.0m
(k= ¢ 150 A 53| 4.000 4000 x( 53 + ) = 212.000 2761.3
&R SUSE 2.0m
(k= ¢ 150 A 13| 2.000 2000 x( 13  + ) = 26.000 362.7
&R SUSE 1.0m
(k= ¢ 150 S 14| 1.000 1.000 x( 14+ ) = 14.000 221.2
&R SUSE 0.5m
(k= ¢ 150 S 6| 0.500 0500 x( 6 + ) = 3.000 58.8
&R SUSE 0.3m
(X ¢ 150 S 7| 0.300 0300 x( 7 + ) = 2100 51.8
& SUSE 0.3m
HWEAES ¢ 150 X 4| 0.302 0302 x( 4 + ) = 1.208 58.8
&R SUSE 1.6m
ILEE ¢ 150 X 12| 1.600 1600 x( 12+ ) = 19.200 225.6
&R SUSE 90°
b ¢ 150 & 8| 0.550 0550 x( 8  + ) = 4400 716
&R SUSE 45°
b @ 150 & 1] 0.282 0.282  x( + 1 ) = 0.282 7.3
R E&SUSE (1| 0.145 0.145 x( + 1 ) = 0.145
72" ¢ 150% ¢ 150 & 1] 0.378 0378 x( 1+ ) = 0378 12.5
REXSUSE 0.126 0.126 x( + )=
F-R" @ 150 % ¢ 80 & 3| 0.378 0378 x( 3 + ) = 1134 315
&R SUSE (2| 0.126 0126 x( 2 + )= 0.252
F-R" @ 150 X ¢ 50 & 2| 0.378 0378 x( 2 + ) = 0.756 17.6
RE&SUSE w9y EY
NEIFANNT ¢ 150 = 1] 0.387 0.387 x( 1 + ) = 0.387 39.5
&R SUSE
Ly 24— ¢ 150 X ¢ 80 & 1] 0.283 0283 x( 1+ ) = 0.283 3.9
&R SUSE
BRHEE ¢ 150X ¢ 20 & 14| 0.202 0202 x( 14 + ) = 2828 88.2
&R SUSE
BEEE ¢ 150X ¢ 25 & 4| 0.202 0202 x( 4 + ) = 0.808 25.2
{RERSUSE 759¥°
EREE ¢ 150 & 2| 0.210 0210 x( 1 + 1 ) = 0420 21.2
{RERSUSE 21t x 21t
EREE ¢ 150 & 4| 0.016 0016 x( 4 + ) = 0.064 24.0
{RERSUSE BL x &L
EREE ¢ 150 A 3| 0.230 0230 x( 3 + ) = 0.690 14.1
{RERSUSE HIAMEL
ERF EHOR 080 75K E 2 2+ = 2 18.0
{RERSUSE ZHHA HyIAMEL
HAEE $ 80X ¢ 65 H® 1 1+ = 1 45
HE%ER 7700 B LYl S 4 HIAMEL
THAKTEE ¢ 200 x ¢ 150 & 1] 0.446 0.446  x( + 1 ) = 0446
ke R
KB ZEF ¢ 200 H® 1 K yIAEEL + 1 = 1
RFY7°{#&-SUS B-N EREE
750V M F ¢ 150 7.5K #A 2 1T+ 1 = 2
REEE  SUS®150 = 290.529
EEEE  SUS$150  288.190 +  0.862 = 289.052
B T KTE
#H# IV E ¢ 150 RF-7.5K & 1 1 = 1 BER
RFY7°{#&-SUS B-N THKTE
750V M F ¢ 150 7.5K #A 1 1 = 1




SUS® 150 ¢80 ¢ 50IRs&ETER (HZ5) T. PEP ¢ 20~ ¢ 40(RficKEME (WA T HEFTES

SUS ¢ 50mm :0.486m X 2@Fﬁ=0.972m
|‘“|/‘J¢|.‘§ SUS ¢ 80mm :L=1.581m(0.833m)
RAEIK . 20mm X 14E AT+ @ 25mm X 4F T+ @ 40mm X 2 FT

mEREN URERE) £#Y:0.95m~050m~FH ., (RMBKE) £#HY:050m~FH NO. 9
g 4 R A
IiE £ FBHKTE By % £ | B4R 1w _Z
H# BE ke
REXSUSE wyHREY
"= N7 ¢ 50 = 1] 0.210 0210 x( 1 + )= 0.210 3.7
REXSUSE HyHREmL
"= N7 ¢ 50 1] 0.210 0210 x( 1 + )= 0.210 3.7
&R SUSE v
EREE Sx 408400 PN 2| 0.150 0150 x( 2 + )= 0.300 1.4
BREHLEE  SUSP50 = 0972
0486 X 2
FEERE  SUS$50 = 0972
[fREEHEKE]
&R SUSE 0.3m
BE ¢80 PN 1| 0.300 0.300 x 1 = 0.300 2.3
&R SUSE 90°
b ¢ 80 & 3| 0.282 0.282 x 3 = 0.846 7.2
REXSUSE w9y EY
"= N7 ¢ 80 = 1] 0.269 0269 x 1 = 0.269 9.5
& SUSE 2T x 20t
EREE ¢80 & 1] 0.016 0016 X 1 = 0016 1.4
RERSUSE L x L
EREE ¢80 & 1] 0.150 0.150 X 1 = 0.150 1.4
MEERE SUSH80  (REHEKE) = 1.581
FEERE SUSH80  (REHEKE) = 0.833
&% F L4
TOFAR VIR Ayh @125 & 3 3+ = 3 18.9

HEAH

4174.8




SUS® 150 ¢80 ¢ 50IRs&ETER (HZ5) T. PEP ¢ 20~ ¢ 40(RficKEME (WA T HEFTES

SUS ¢ 50mm :0.486m X 2@Fﬁ=0.972m
|‘“|/‘J¢|.‘§ SUS ¢ 80mm :L=1.581m(0.833m)
RAEIK . 20mm X 14E AT+ @ 25mm X 4F T+ @ 40mm X 2 FT

RSN (RERE) £4Y:0.95m~050m~FH ., (RMBKE) LY :050m~FEH NO. 9
g 4 R A
TiE £ K TZE B % & H %
FE (ERT]
REE AR sus NN i
REXSUSEMET ¢ 150 m 110.3/112.085 - 0446 X 1 - 0150 x 9 = 110.289
ZHE HR
RERSUSEMEZT ¢ 150 m 177.1/178.444 - 0150 X 9 = 177.094
ERER
REESUSEMBT ¢ 50 m 0.5| 0.486 = 0.486
ZHER
REESUSEMBT ¢ 50 m 0.5| 0.486 = 0.486
REE AR BE-LE IME-ALTT F-R F-R U
{RERSUSEMFT ¢ 150 [m] 65 39 + 10 + 2 4+ 1
HxHi20 HERHi25 EHERR
+ 71+ 2 4+ 2 x2 = 65
ZHE E-oby  IVE-ALTT F-R HR 20 HRHH25 R
RERSUSEHRFT ¢ 150 a 87, 10 + + 4 4+ 1 4+ 2 4+ 2x2= 8]
ERER N7 F-R G
{RERSUSEMFT ¢ 50 a 2 1 + 1 = 2
ZHER N7 F-R I
{RERSUSEMFT ¢ 50 a 2 1 + 1 = 2
HERER HY 20 HY 25
BHEERMT ¢ 150 = 9 7+ 2 = 9
ZHER HY 20 HY 25
BHEERMT ¢ 150 = 9 7+ 2 = 9
ZHE
REZRAZET 7.5K = 2] 2 = 2
ZHER
REHAEERET O ¢80x ¢p65 | H 1 1 = 1
EBERED wvIrEY
RENVTHRET ¢ 150 = 1 1 = 1
EBERED KvIrEY
RENVTHRET ¢ 50 = 1 1 = 1
FHER RyIAEL
RENNVTHRET ¢ 50 = 1 1 = 1
ke R
TEIKERT $200x 150 | EERART 1 1 = 1
WK S5 HE%ER RyIREL
BREI ¢ 200 B 1 1 = 1
EE
IV MFET ¢ 150 7.5K a 2l 2 = 2
B &7I70Y
I3V FRSLT ¢ 150 7.5K m] 1 1 = 9
¢ 150

BRI ERET H=0.75/ (5178 1 1 = 1




SUS® 150" ¢80- ¢ 501

=
RE

s’ (M) . PEP ¢ 20~ ¢ 40(R#E5KEMR (BE) T HEFES

SUS ¢ 50mm:0.486m X 2& F7=0.972m

NLYE SUS @ 80mm:L=1.581m(0.833m)

RAEIK . 20mm X 14E AT+ @ 25mm X 4F T+ @ 40mm X 2 FT

MR (REE) £1Y:095m~050m~FEH. (RABKE) THY:0.50m~FEH NO. 9
& 4 R
I £ FBHKTE Hy) % # 1w _Z
F% | REREKERTTI]
REE AR
RERSUSE/mZRT ¢ 80 m 1.0/ 0451 + 0582 1.033
ZHE
RERSUSEMET ¢80 m 0.5| 0.548 0.548
REE AR E-IbF  ILENLT SRS
{RERSUSEMFT ¢ 80 a 5 1 + 2 +1x2 5
ZHER ILE N7
RERSUSEMRFT ¢80 2 2 2
REE AR
REENVIHRET ¢80 2 o1 1
avy)-HEIFL HI 7L ¢ 250 7 4] 4 BEE%{;% 4
avy)-HEIFL HI L& ¢ 100 7 1 1 BE 2% {15 1
(I v)—h) 120X 055 % 1.75 | #ff 1] FHKAE 5415 ¢ 200(DIPFA)
frEg€a 49—+ 18N-8-20 m® 1.1 (1.20% 055 - 7 /4 x 0.22*) x 1.75 1.088
R ERZ$T INBI(T) m? 3.2 (1.20+1.75) x 2 x 055 - /4 X 0.22> x 2 3.169




SUS® 150 ¢80 ¢ 50IRs&ETER (HZ5) T. PEP ¢ 20~ ¢ 40(RficKEME (WA T HEFTES

SUS ¢ 50mm:0.486m X 2& F7=0.972m

NLYE SUS @ 80mm:L=1.581m(0.833m)

RAEIK . 20mm X 14E AT+ @ 25mm X 4F T+ @ 40mm X 2 FT

RSN (RERE) £4Y:0.95m~050m~FH ., (RMBKE) LY :050m~FEH NO. 9
g 4 R A
TiE £ K TZE B % & H %
B
FE (HET]
REE AR
{RERSUSEHET ¢ 150 m 110.3] 110.289 = 110.289
ZHE
{RERSUSEHET ¢ 150 m 177.1/177.094 = 177.094
REE AR
{RERSUSEHET ¢ 50 m 0.5| 0.486 = 0486
ZHER
{RERSUSEHET ¢ 50 m 0.5| 0.486 = 0486
REE AR
REESUSEMHFRIILT ¢ 150 [m] 65| 65 = 65
ZHER
{REESUSE M FESILT ¢ 150 a 87| 87 = 87
REE AR
REESUSEHFERIILT ¢ 50 [m] 2 2 = 2
ZHE
REESUSEHFRSILT ¢ 50 a 2 2 = 2
REE AR
BHEEEREL ¢ 150 b 9] 9 = 9
ZHER
BHEEEREL ¢ 150 b 9] 9 = 9
ZHER
REERAHET 7.5K X 2 2 = 2
ZHE
REREARET | BOMA ¢80x 065 | # 11 1 = 1
REE AR
RENVIEBET ¢ 150 = 1 1 = 1
REE AR
RENVIEBET ¢ 50 = 1 1 = 1
ZHER
RENVIEBET ¢ 50 = 1 1 = 1
BREY
770/ FRNALT ¢ 150 7.5K m} 2] 2 = 2
IV E
IV HFET ¢ 150 7.5K a 1 1 = 1
18-8-20 (BIFLEE b 250) /4 x 025° X 0.15 x 4 EFF = 0029 a7#&IB
avy)-+tT t=15cm m® 0.03 |(#i7L% ¢ 100) /4 x 010° x 0.15 x 1 &Af = 0.001| ar#&IE
it = 0.030
[REEHKEHET]
A
REXSUSERET ¢ 80 m 1.0/ 1.033 = 1.033
TEHE
REXSUSERET ¢ 80 m 05| 0548 = 0548
TEHE
{REXSUSE#FRSILT ¢80 a 2l 2 = 2
TEHE
RENVIHEET ¢80 H® 11 = 1




SUS® 150 ¢80 ¢ 50IRs&ETER (HZ5) T. PEP ¢ 20~ ¢ 40(RficKEME (WA T HEFTES

SUS ¢ 50mm:0.486m X 2& F7=0.972m

NLYE SUS @ 80mm:L=1.581m(0.833m)

RAEIK . 20mm X 14E AT+ @ 25mm X 4F T+ @ 40mm X 2 FT

MR (REE) £1Y:095m~050m~FEH. (RABKE) THY:0.50m~FEH NO., 9
g 4 R A
TiE £ K TZE B % & H %
FE (£T] [#E%]
¢ 150
T EE$HE(G-10-10) | m 109.8 19 + 350 + 729 = 109.8
¢80
EELTD-2 EES$#E(5-10-10) | m 0.5 0.5 = 05
¢ 50
AL TD-3 EES$#E(5-10-10) | m 0.5 0.5 = 05
¢ 150
il | I ) EES$E(5-15-15) | m =
T BRK ¢ 200 x ¢ 150
il | e ) EES$#E(5-10-10) | m 0.9 09 x 1 BAF = 09
TER KLY F ¢ 200
EHLTI® EES$#E(5-10-10) | m 1.8 18 x 1@ = 18
(#=]
¢ 150
T EE$HE(G-10-10) | m 110.7 19 + 350 + 729 + 09 = 1107
¢80
EELTD-2 EES$#E(5-10-10) | m 0.5 0.5 = 05
¢ 50
EEIETD-3 EES$#E(5-10-10) | m 0.5 0.5 = 05
¢ 150

EEILTIO EES$E(5-15-15) | m =




SUS® 150" ¢80- ¢ 501

=
RE

s’ (M) . PEP ¢ 20~ ¢ 40(R#E5KEMR (BE) T HEFES

SUS ¢ 50mm:0.486m X 2& F7=0.972m

NLYE SUS @ 80mm:L=1.581m(0.833m)

RAEIK . 20mm X 14E AT+ @ 25mm X 4F T+ @ 40mm X 2 FT

RSN (RERE) £4Y:0.95m~050m~FH ., (RMBKE) LY :050m~FEH NO. 9
g 4 R A
TiE £ K TZE B % & H %
F% | RERMBKERRT]
MI# S47°A THE
REGKEERT PEP ¢ 20 (517 5 5 L=2.0m
MI# 447°B THE
REGKEERT PEP ¢ 20 (517 9 9 L=2.5m
MI# 447°C c-1 c-2 THE
REGKEERT PEP ¢ 25 AT 4 3+ 1 L=2.0m
MI# 447D THE
REGKEERT PEP ¢ 40 (517 2 2 L=3.0m
(REEHEKERET]
MI# S47°A THE
RIAKEBET PEP ¢ 20 (517 5 5 L=2.0m
MI# 447°B THE
RIAKEBET PEP ¢ 20 (517 9 9 L=2.5m
MI# 447°C c-1 c-2 THE
RIAKEBET PEP ¢ 25 AT 4 3+ 1 L=2.0m
MI# 447D THE
RIAKEBET PEP ¢ 40 (517 2 2 L=3.0m
[k 42 B A BT
#H# 739 %%y7° ¢ 20 & 11 1
759 %97’ ¢ 25 & 2 2 2
[+ 1]
759 1E &
EE L TR E& 58 m 1.0 10  x 1 @R 1.0
739 1E & THE
EHILTO-2 EESE m 20/ 10  x 2 & 2.0 L=1.0m




No. 9-1 NO. 1 T+ID-1 NO. 2 TIT®D-2 NO. 3 +IT®-3 NO. 4 ) NO. 5 TI® NO. 6 TI@ NO. 7 NO. 8
RERE (H50) 1008 =EL | 05 =@EL | 05 -@EL EEL | 10 -BmN | 10 @@ N EEL EEL
=R L =R L =R L =R L =& N =& N =R L =R L
£ i iR % LY EEHS
AsEiZE b 2.00 219. 60 2.00 1.00 2.00 1.00 4.60 4.60 6.40 6. 40 (232.60 )| ( 230 )
SEYMRT t=15cmLLF m
AsEiZE ki 0. 60 65. 88 0. 60 0.30 0. 60 0.30 1.26 1.26 2.52 2.52 (70.26 )| ( 70 )
SHERREERE T |t=10cmL T m2
BHO. 28m3 0.37 40. 63 0.32 0.16 0. 31 0.16 1.82 1.82 3.64 3.64 ( 46.41)|( 50 )
AR YE T e+ m3
BHO. 28m3 0. 86 0. 86 0. 66 0. 66 ( 1.52 )| ( 2)
HHERT BAER m3
BHO. 28m3 0.30 32.94 0.27 0.14 0. 26 0.13 0. 69 0.69 1.39 1.39 ( 35.29)( 40)
HMERT FAEL m3
(RC-40) ( )| ¢ )
TrERET t=15cm m2
(RC-30) 0. 60 65. 88 0. 60 0.30 0. 60 0.30 1.26 1.26 2.52 2.52 (70.26 )| ( 70 )
TrERET t=10cm m2
(RM-40) ( )| ¢ )
TERET t=17cm m2
(RM-30) 1.26 1.26 2.52 2.52 ( 3.78 )] ( 4)
TERET t=12cm m2
BAZH As13mm 0. 60 65. 88 0. 60 0.30 0. 60 0.30 1.26 1.26 2.52 2.52 (70.26 )| ( 70 )
B {818 t=3cm m2
BitunT 0.04 4.39 0.02 0.01 0.02 0.01 1.05 1.05 2.10 2.10 ( 7.56 ) ( 8)
(£#) 4tDT m3
BitunT 0.03 3.29 0.03 0.02 0.03 0.02 0. 06 0.06 0.13 0.13 ( 3.52)( 4)
(AS) 4tDT m3,
ZAE 0.07 7.69 0.07 0.04 0.07 0.04 0.13 0.13 0.29 0.29 ( 8.19 ) ( 8.2)
AST% t
EESE 0. 60 65. 88 0. 60 0.30 0. 60 0.30 1.26 1.26 2.52 2.52 70. 26
ERE{REIR (5-10-10) m2
EESE
ERE{REIR (5-15-15) m2




T I % B &£ & %
No. 9-2 NO. 1 T+ID-1 NO. 2 TIT®D-2 NO. 3 +IT®-3 NO. 4 ) NO. 5 NO. 6 NO. 7 NO. 8
RERE (%) 110.7 =R L 0.5 =R L 0.5 =R L =R L =R L =R L =R L =R L
=R L =R L =R L =R L =R L =R L =R L =R L
£ i iR % BESEH | BERE
AsEhEERR ( ) ¢ )
SEYMRT t=15cmLLF m
AsEiZE ki 0. 60 66. 42 0. 60 0.30 0. 60 0.30 ( 67.02)|( 67)
SHERREERE T |t=10cmL T m2
BHO. 28m3 0. 36 39. 85 0.33 0.17 0.32 0.16 ( 40.18)( 40)
AR YE T e+ m3
BHO. 28m3 ( K¢ )
HHERT BAER m3
BHO. 28m3 0.25 27.68 0.20 0.10 0.19 0.10 ( 27.88)|( 30)
HMERT FAEL m3
(RC-40) ( )| ¢ )
TrERET t=15cm m2
(RC-30) 0. 60 66. 42 0. 60 0.30 0. 60 0.30 ( 67.02)|( 67)
TrERET t=10cm m2
(RM-40) ( )| ¢ )
TERET t=17cm m2
(RM-30) 0. 60 66. 42 0. 60 0.30 0. 60 0.30 ( 67.02)|( 67)
TERET t=12cm m2
BAZH As13mm 0. 60 66. 42 0. 60 0.30 0. 60 0.30 ( 67.02)|( 67)
B {818 t=3cm m2
BitunT 0.08 8.86 0.1 0.06 0.1 0.06 ( 8.98 ) ( 9)
(£8) 4tDT m3
BitunT 0.02 2.21 0.02 0.01 0.02 0.01 ( 2.23)]( 2)
(AS) 4tDT m3,
ZAE 0.04 4.43 0.04 0.02 0.04 0.02 ( 4.47)]( 4.5)
AST% t
EESE
ERE{REIR (5-10-10) m2
EESE
ERE{REIR (5-15-15) m2




T I % B &£ & %
No. 9-3 NO.1 fR#£T@-1] NO.2 {R#&tT@®-2| NO.3 F(EET@ [ NO.4 {R#+T@-1| NO.5 {R#E+T®-2]| NO.6 NO. 7 NO. 8
RERFEAKE (5% “ERE L 2.0 =R L =R L 1.0 =R L 2.0 =R L =R L =R L =R L
=R L =R L =R L =R L =R L =R L =R L =R L {R#E7K
£ i iR % & | BERE
AsEiZE b 2.00 4.00 2.00 2.00 2.00 4.00 (" 10.00)( 10)
SEYMRT t=15cmLLF m
AsEiZE ki 0.50 1.00 0.50 0.50 0.50 1.00 ( 2.50 ) ( 3)
SHERREERE T |t=10cmL T m2
BHO. 13m3 0.25 0.50 0.57 0.57 0. 46 0.92 ( 1.99 ) ( 2)
AR YE T HE+ m3
BHO. 13m3 0.12 0.24 ( 0.24)|( 0)
HHERT BAER m3
BHO. 13m3 0.09 0.18 0.54 0.54 0.43 0. 86 ( 1.58 )| ( 1)
HMERT FAEL m3
(RC-40) ( )| ¢ )
TrERET t=15cm m2
(RC-30) 0.50 1.00 0.50 0.50 0.50 1.00 ( 2.50 )¢ 3)
TrERET t=10cm m2
(RM-40) ( )| ¢ )
TERET t=17cm m2
(RM-30) ( ) ¢ )
TERET t=12cm m2
BEZHAs13mn 0.50 1.00 0.50 0.50 0.50 1.00 ( 2.50 ) ( 3)
B {818 t=3cm m2
BitunT 0.15 0.30 -0.03 -0.03 -0. 02 -0.04 ( 0.23)]( 0.2)
(£8) 2tDT m3
BitunT 0.03 0. 06 0.03 0.03 0.03 0. 06 ( 0.15)]( 0.2)
(AS) 2tDT m3,
ZAE 0.07 0.14 0.07 0.07 0.07 0.14 ( 0.35)]( 0.4)
AST% t
EESE 0.50 1.00 1.00
ERE{REIR (5-10-10) m2
EESE
ERE{REIR (5-15-15) m2




T I % B &£ & %
No. 9-4 NO.1T {R#&+T@® -1| NO.2 {R#A+T@® -2 NO.3 {R#+T@ NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
RERFEAKE (HZE) “ERE L 2.0 =R L =R L =R L =R L =R L =R L =R L
=R L =R L =R L =R L =R L =R L =R L =R L {R#E7K
£ i iR % #wE i | BEHRE
AsEhEERR ( ) ¢ )
SEYMRT t=15cmLLF m
AsEiZE ki 0.50 1.00 ( 1.00 ) ( 1)
SHERREERE T |t=10cmL T m2
BHO. 13m3 0. 26 0.52 ( 0.52 )| ( 1)
AR YE T HE+ m3
BHO. 13m3 ( K¢ )
HHERT BAER m3
BHO. 13m3 0.15 0.30 ( 0.30 ) ( 5)
HMERT FAEL m3
(RC-40) ( )| ¢ )
TrERET t=15cm m2
(RC-30) 0.50 1.00 ( 1.00 ) ( 1)
TrERET t=10cm m2
(RM-40) ( )| ¢ )
TERET t=17cm m2
(RM-30) 0.50 1.00 ( 1.00 )| ( 1)
TERET t=12cm m2
BEZHAs13mn 0.50 1.00 ( 1.00 ) ( 1)
B {818 t=3cm m2
BitunT 0.09 0.18 ( 0.18)|( 3)
(£#) 2tDT m3
BitunT 0.02 0.04 ( 0.04 )| ( )
(AS) 2tDT m3,
ZAE 0.04 0.08 ( 0.08 ) ( 0.1)
AST% t
EESE 0.50 1.00 1.00
ERE{REIR (5-10-10) m2
EESE
ERE{REIR (5-15-15) m2




T I #% E & & EBE
No, 1
WA =  (D-1 SUS@ 150 L= 109.8 m (H70F)
Bt #r = [EEAEG-10-10) H= 0.50 m
gEREE = 0170 X 0170 X =z / = 0.023
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
A B - 1.00 X 0.60 X( 0.67 — 0.05 )= m3 0.37
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.54 — 0.023 = m3 0.30
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.37 —( 0.30 =+ 0.90 )= m3 0.04
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TR77 /b 0.03 X 220 = ¢ 0.07




T I #% E & & EBE
No,2
W s =  @D-2 SUS¢80 L= 0.5 m (Hak0F)
Bt #r = [EEAEG-10-10) H= 0.50 m
EHEEE = 0090 X 009 X =z / = 0.006
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.59 — 0.05 )= m3 0.32
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.46 — 0.006 = m3 0.27
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.32 —( 0.27 =+ 0.90 )= m3 0.02
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TR 7/ 0.03 X 220 = ¢ 0.07




T I #% E & & EBE
No,3
WA = D-3 SUS¢50 L= 0.5 m (k)
Bt #r = [EEAEG-10-10) H= 0.50 m
EHEEE = 0060 X 0060 X 1z / = 0.003
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
AR T
AsEHHEIK t=15cmIL T 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
I T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.56 — 0.05 )= m3 0.31
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.43 — 0.003 = m3 0.26
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.31 —( 0.26 = 0.90 )= m3 0.02
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
TAE
TR 7/ 0.03 X 220 = ¢ 0.07







T I #% E & & EBE
No,5
WraES = @ DIPg200 L= 0.9 m X1EFr=0.9m (FEATFE)
Bt 7 = [EEAEG-10-10) H= 1.00 m
R = 0220 X 0220 X x/1 X 0.90 = 0.034 (KE)
s = 0170 X 0170 X x,/1 X 0.70 = 0.016 (GUEE)
15972450
% B EA H | & & i =
BRI T
AsEREM t=15cmL 090 X 2 + 140 X 2 = m 4.60
LN T
ASEBHEMG t=10cmd T 0.90 X 1.40 = m2 1.26
A T. BHO.28m3
W A BEE A 090 X 1.40 X( 1.52 — 0.05 )— 0.034 =| m3 1.82
HHEE T BHO.28m3
LLNFEESD AR 0.90 X 1.40 X 0.72 — 0.034 — 0.016 =| m3 0.86
HHEE T BHO.28m3
LGRS FAE A 0.90 X 1.40 X 0.55 = m3 0.69
TSR T (RC-30)
t=10cm 0.90 X 1.40 = m2 1.26
/BT (RM-30)
t=12cm 0.90 X 1.40 = m2 1.26
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 0.90 X 1.40 = m2 1.26
T T 4DT #EEl = WAL
FEASL 1 1.82 —( 0.69 + 0.90 )= m3 1.05
FE T 4DT
TGS TR 0.90 X 1.40 X 0.05 = m3 0.06
TAE
TR77 /b 0.06 X 220 = ¢ 0.13




T I #% E & & EBE
No, 6
BrigiEe = @ DIP$200 L= 1.8 m XIET=18m (FEAKALLIR)
Bt 7 = [EEAEG-10-10) H= 1.00 m
B = 0220 X 0220 X x/1 X 180 = 0.068
S pEsE = 1,200 X 0.550 X 1.750 = 1.155
15972450
% B s = E H | & & =
BRI T
AsEHRERE t=15cmbL T 1.80 X 2 4+ 140 X 2 = m 6.40
LN T
AsBHEER t=10cmll 1.80 X 1.40 = m2 2.52
A T. BHO.28m3
BRI A BEE - 1.80 X 1.40 X ( 1.52 — 0.05 )— 0.068 =| m3 3.64
HHEE T BHO.28m3
LLNFEESD AR 1.80 X 1.40 X 0.72 — 1.155 = m3 0.66
HHEE T BHO.28m3
LGRS FAE A 1.80 X 1.40 X 0.55 = m3 1.39
TSI T (RC-30)
t=10cm 1.80 X 1.40 = m2 2.52
/BT (RM-30)
t=12cm 1.80 X 1.40 = m2 2.52
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.80 X 1.40 = m2 2.52
LML 4DT wmElE WAL
FBUAL | 3.64 —( 1.39 + 0.90 )= m3 2.10
FE T 4DT
TGS TR 1.80 X 1.40 X 0.05 = m3 0.13
TAE
TR 7/ 0.13 X 220 = ¢ 0.29




T I #% E & & EBE
No, 1
WA =  (D-1 SUS@ 150 L= 110.7 m (L)
Bt #r = [EEAEG-10-10) H= 0.50 m
gEREE = 0170 X 0170 X =z / = 0.023
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 0.00 X 2 = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.67 — 0.03 )— 0.023 =| m3 0.36
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 042 = m3 0.25
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 036 —( 0.25 = 0.90 )= m3 0.08
FE T 4DT
TGS TR 1.00 X 0.60 X 0.03 = m3 0.02
TAE
TR 7/ 0.02 X 220 = ¢ 0.04




T I #% E & & EBE
No,2
W s =  @D-2 SUS¢80 L= 0.5 m (EH)
Bt #r = [EEAEG-10-10) H= 0.50 m
EHEEE = 0090 X 009 X =z / = 0.006
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 0.00 X 2 = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.59 — 0.03 )— 0.006 =| m3 0.33
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.34 = m3 0.20
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.33 —( 0.20 =+ 0.90 )= m3 0.11
FE T 4DT
TGS TR 1.00 X 0.60 X 0.03 = m3 0.02
TAE
TR 7/ 0.02 X 220 = ¢ 0.04




T I #% E & & EBE
No,3
WA = (D-3 SUS¢50 L= 0.5 m (EH)
Bt #r = [EEAEG-10-10) H= 0.50 m
EHEEE = 0060 X 0060 X 1z / = 0.003
EHE = X X z /J 4 =
Im2%47
% B s = E H | & & =
BRI T
AsBHEER t=15cmll 0.00 X 2 = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
I T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.56 — 0.03 )— 0.003 =| m3 0.32
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.31 = m3 0.19
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.32 —( 0.19 =+ 0.90 )= m3 0.11
FE T 4DT
TGS TR 1.00 X 0.60 X 0.03 = m3 0.02
TAE
TR 7/ 0.02 X 220 = ¢ 0.04










T I #% E & & EBE
No,2
B 5 = iig®-2 PEP$40 L= 2.0 m
Brigis B = [HEAFEG-10-10) H= 0.50 m
EHEEE = 0050 X 0050 X =z / = 0.002
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
1 BHO.13m3
Wb A FEE £ 1.000 X 050 X( 0.55 — 0.05 )= m3 0.25
i T BHO. 13m3
K NFRED AR 1.000 X 050 X 0.25 — 0.002 = m3 0.12
i T BHO. 13m3
LG TN A 1.00 X 050 X 0.17 = m3 0.09
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
LG T 2tDT wmElE WAL
FEAA 1+ 0.25 —( 0.09 =+ 0.90 )= m3 0.15
FELH T 2tDT
FEAB TAT7 MR 1.00 X 050 X 0.05 = m3 0.03
TAE
TAZ7 b 0.03 X 220 = ¢ 0.07







H
H
32
il
o
o
i

No,4
Braiss = wiw@-1 77008 L= 1.0 m
Bt B = [FE A H= 120 m
R = 0030 X 0030 X 1 / = 0.001
EHE = X X z /J 4 =
Im2%7
% EA H | & & =
BRI T
AsEHEEIK t=15cmIL T 1.00 X 2 = m 2.00
e N
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
et 1. BHO. 13m3
1 B A - BEE - 1.00 X 0.50 X( 1.20 — 0.05 )— 0.001 =| m3 0.57
HEECT BHO. 13m3
LN AR m3
HEECT BHO. 13m3
SNl TS A 1.00 X 0.50 X 1.07 = m3 0.54
AT (RC-30)
t=10cm 1.00 X 0.50 = m2 0.50
RS T (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
e T 2tDT et wHAL
FHAH L4 0.57 —( 0.54 = 0.90 )= m3 -0.03
FELH T 2tDT
FFIAB TAT7 Nk 1.00 X 0.50 X 0.06 = m3 0.03
ZAE
Ve 54 0.03 X 2.20 = t 0.07




T I #% E & & EBE
No,5
WS = k@2 77700 L= 20 m
Bt B = [FE A H= 0.98 m
EHEEE = 0030 X 0030 X =z / = 0.001
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
1 BHO.13m3
Wb A FEE £ 1.000 X 0.50 X( 0.98 — 0.05 )— 0.001 =| m3 0.46
i T BHO. 13m3
S NFEIED PR m3
i T BHO. 13m3
LG TN A 1.000 X 050 X 0.85 = m3 0.43
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm mZ2
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
LG T 2tDT wmElE WAL
FEAA 1+ 046 —( 0.43 = 0.90 )= m3 -0.02
FELH T 2tDT
FEAB TAT7 MR 1.00 X 050 X 0.05 = m3 0.03
TAE
TAZ7 b 0.03 X 220 = ¢ 0.07







T I #% E & & EBE
No,2
WA = gip@-2 PEP$40 L= 2.0 m (50
Bt #r = [EEAEG-10-10) H= 0.50 m
B = 0050 X 0050 X x / 4 = 0.002
EHE = X X z /J 4 =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 0.00 X 2 = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
A T BHO.13m3
BRI A BEE - 1.00 X 050 X( 0.55 — 0.03 )— 0.002 =| m3 0.26
HHE T BHO. 13m3
S NFEIED PR m3
HE T BHO. 13m3
BN FEAE A 1.00 X 050 X 0.30 = m3 0.15
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=12cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 050 = m2 0.50
LML 2tDT wmElE WAL
FBUAL | 026 —( 0.15 = 0.90 )= m3 0.09
FEH T 2tDT
TGS TR 1.00 X 050 X 0.03 = m3 0.02
TAE
TR 7/ 0.02 X 220 = ¢ 0.04
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